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KINEMATICS ELECTRICITY AND MAGNETISM
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MOMENTUM AND ENERGY QUANTUM AND NUCLEAR PHYSICS
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Some Useful Information

acceleration due to gravity at the Earth’s surface......g = 9.80 m/s®
universal gravitation constant......G = 6.67 x 10" Nm?%kg?
Coulomb’s law constant.......k = 9.0 x 10° Nm?/C?
magnitude of the charge on an electron.......1.60 x 10" C
Planck’s constant.....h = 6.626 x 10" J/Hz or Jes
radius of Earth......6.37 x 10° m
radius of Earth orbit.....1.4957 x 10"' m
mass of Earth......5.98 x 10% kg
speed of light in vacuum.....c = 3.00 x 10®* m/s
mass of an electron.....9.11 x 10*' kg
mass of a proton.....1.6735 x 10 kg
atomic mass unit.....u = 1.6605 x 10? kg
rest mass of neutron.....1.008665 u = 1.6749 x 10 kg
rest mass of proton.....1.007823 u = 1.6735 x 107 kg
1 electron volt.....eV = 1.6 x 10 J



(11'202) or'esz) |NoL'esz) 60'262) [{eozsz) |(eo'Ls2) Tq:u ove  |feoera)  |feovra) .mo_%u_ || eoeez vo'Lez)  |(rozez)
wnpuame || wnyeqon [jwrneepuep || wnuued ||wnuesui | wniwoen || wnjexpeq wnpng || wnppewy || wnuoinid || wnumde wnuesn || wnunoeosy wnuoy |
._u_no, zoL PN L0L En_oo- wm 8_ hO 26 39 L8 EO oh__.:< 6 :n— GZ £6 n z6 wm 16 yl 06 "
L8LL vO'ELL £6'8914 9z'L91 covor || o520t 2__ 851 GZ'L5L 18'161 9€£°051 L6'¥PL) rZovl 18'0vL zZLork
wngein || wnigenA wnynyL wni3 | wnjwioy || wnsoidsig njujopes) || wmdaing || wnuewes || wniyiewosd || wnruA d wnuen
N7 QA o |[WL &f 13 [ OH L, AQ 4 ﬁg PO o[ NI (WS ,fWd /PN ol Id [ 8D of*
(L22) (zL2) (602) (002) 900 |fevzed) |fevesa) (11°202) : 102)  [feo'zz2) £0'022) 10'€22)
wmqunup) | unununun |wmnuunun || woueupeyy wnissey wnuyog || wmbioqees wnugnQ wnjunoy wnjpey wnpouel 4
ANz (PPN |UPN oy || AN 6o, || SH 6o || UE L0 mwsp_ qd.,, ..—N_ vor || OV G|l BY gl 44 4
(z0'Z22) 86'602) 802) 28 8E'P0Z 65002 __ 16'961 80661 zz'T6lL Z061 12081 S8E8l G6'081 _Io_.s: __ 53— ﬂ:ﬂ ;Nm_
uopey !au—q( E_..:oBm S:E-_u wnyjey Anosepy P09 wnupeld wnipu) wnwsQ (| wnueyy || uesBuny || wneue wnjuyeH E::-E_._-._
uy od 9:, L 4[| BH o[ NV o[ 3d o] 41 ,[50 o) 0¥ o M) BL | H L)l e s _w..m:,lé,ym
8Z'LEL 06921 _ 092 __.s_. 1Zh LL8kL __ zZaril Wzl L8201 Zr'e0l wzor || zo'sos (16°26) ¥6'G6 1626 e || reee Nﬁo Ly'e8
uouey auipo| || wnunj Auownuy uig wnipu| || wnwpey 18IS || wnipeled || wnpoyy || wnueyny | (wnpeuyoa ) |lwnuepakion || wniqoiN || wnuoonz wnupA wnipigny
OX ofl 1) L 15[ AS o[ US o UI 4 PO mf,__:_s uy NN, ﬁe OW | AN ,,|| 4Z o) A ms QY
08'e8 06'6L 96'9L z6'vL 19ZL ZL69 6£'59 B_na 59’ B 8 1S S 89'LY 96t 80°0F 0L'68
uoyddy || euwosg || wnees ouesty |lwnueuves||  wnje ouz neqo) ipeueA || wnueyl || wopueos || wnpje) || wnissejog
[ |18 [0S [V u[0D uE0 o UZ 1D o IN 203 ] 0 U o] 1D L [ 98 .[[® & M a
[ce % L0'ZE L60E 6062 8602 LE'vZ
anyding | sruoydsouy uoolIs || wnupwngy wnipog
.__< .: _O :_ S ol _m 2! v £l zL QZ L
28 6681 6661 _ o'yl 1021 1801 106 v6'0
suLON|4 uebixg || ueBomn uoque) uolog wnylieg wngn
aza.m.o,zho,mn °g ,| N .
00y
wniey
oH ., o'
ueBoiphy
H
81 Ll 91 SI 14! tl (4! I (111 6 8 & 9 S 14 £ (v I

IqeL dNPoLIdJ




